Efficiency vs P,

- 0.2
o

2 0.18F
> -
2 0.16F
o
2 F
20.14
0]
0.12F
0.1

0.08
0.06
0.04
0.02

.............................

= 0.2
2
20.18

(C) r
$0.16f
(8] L
£0.14F
(]
0.12F
0.1F

0.08
0.06)
0.04
0.02

Take+auplicaies rate vs p

fake+duplicates vs p_ |

-

Ratio

1

0.8

0.6

0.4

0.2

iy

|||l§l* ] :anﬁé )
LTI

0.95

=

o
N

=

3
= B Ra g opa—mt Ei NOBatn
—_— opal m atc

—— D M:V888 :R888888881:8 obal—m F! —batch32
—— DQM~V0001~R000000001—Global——mkFi atch64

............

.............

.....................

..........

..........

Vs

Ratio

o
©
C

[y

|
W[ T

-2

Efficiency vs ¢

o 0.1-
o E
>‘0.09 ;
2 ]
$0.08 :

take+duplicates rate vs n

Ratio

0.8

0.6

0.4

0.2

2.

iy

W

0.95

W

[ fake+duplicates vs o]

take+duplicates rate vs @

1

o ©
fe))

o
»

++§+

=
L




	Contents
	Page 1


